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&S X 4 Er%:né; 'Fﬁﬁb\(‘z)(bﬁﬁﬁ’é jj(gi;tn:é)é Z 4 'Fﬁﬁﬁ?é\é:zg;kzlz z.%r'n‘c)k jj(lf’z;tn:é)é Z 4 ;.%r‘na)k J:ﬁﬁb\(‘:)@tb% jj(lf’z;tn:é)é X 4 J:ﬁn“ﬁ;b\(i)o)tt‘.% ‘(.%.r'g jj(ﬁitr:f)é
7 100kN/mM%BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S -~ — — —
s 1.00 | 0.00 ~ 4.76 59.33 | =h4 | 0oo ~ 000 1.77 8.93 st 1.00 | 6.00 ~ 5.00 59.33 | =h4 | 6.00 ~ 5.00)| 1.77 8.93
2 100kN/mM%#BZ % — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S -~ — — —
s 1.00 | 0.00 ~ 5.80 72.55 | EnLRS | 0oo ~ 580 1.82 921 st 1.00 | 6.00 ~ 6.60 72.55 | ThSY | 6.00 ~ 6.60| 1.82 921
3 100kN/mM%#BZ % — - ~ — —|3mZTiBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S -~ — — —
s 1.00 | 0.00 ~ 723 9201 | #nS | 000 ~ 0.00| 1.77 8.93 st 1.00 | 6.00 ~ 9.20 92.01 | =hd4 | 6.00 ~ 920 1.77 8.93
4 100kN/mM##BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S -~ — — —
s 1.00 | 0.00 ~ 5.06 63.00 | =nh4 | 0oo ~ 000\ 1.67 7.93 st 1.00 | 6.00 ~ 56.80 63.00 | Thst | 6.00 ~ 580 | 1.67 7.93
5 100kN/mM%#BZ 5 — - ~ — —|3mZTiBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mEBZ S -~ — — —
s 1.00 | 0.00 ~ 6.11 76.59 | ThSY | 000 ~ 0.00| 1.61 814 st 1.00 | 6.00 ~ 740 76.59 | TS | 6,00 ~ 7.40| 1.61 814
P 100kN/mM%#BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mEBZ S -~ — — —
s 1.00 | 0.00 ~ 719 91.48 | =hds | 000 ~ 000 1.71 8.63 st 1.00 | 6.00 ~ 9.20 91.48 | =h4 | 6,00 ~ 920 1.71 8.63
- 100kN/mM##8x5 | 1.00 | 0.00 ~ 101 11514 |3mZEBAD| — ~ — — — | 100kN/ %8825 | 1.00 | 1060 ~ 1380| 11514 |3m%E#Z5 -~ — — —
s 1.00 | 1.01 ~ 879 100.00 | #nst | 000 ~ 879|213 10.76 st 1.00 | 6.00 ~ 1060 100.00 | =nst | 5.00 ~ 1380| 2.13 10.76
P 100kN/m%E#Z5 | 1.00 | 000 ~ 227 13541 |3m&E#ZB| — ~ — — — | 100kN/ %8825 | 1.00 | 1057 ~ 2030| 13541 |3m%E#Z5 -~ — — —
s 1.00 | 227 ~ 1006 100.00 | =nst | 0.oo ~ 1006\ 2.66 13.42 st 1.00 | 6.00 ~ 1057 100.00 | =nst | 5.00 ~ 2030 2.66 13.42
9 100kN/mM%E#BZ5| 1.00 | 000 ~ 234 136.57 |3mZEBAD| — ~ — — — | 100kN/ %8825 | 1.00 | 1060 ~ 2110| 136.57 |3m%E#Z5 - ~ — — —
s 1.00 | 234 ~ 1013 100.00 | =nst | 0oo ~ 1013 2.64 13.34 st 1.00 | 6.00 ~ 1060 100.00 | =nst | 5.00 ~ 2110 2.64 13.54
10 100kN/mM#E#BZ5 | 1.00 | 0.00 ~ 200 130.92 |3mZEBAD| — ~ — — — | 100kN/ %8825 | 1.00 | 1059 ~ 1860| 130.92 |3m%E#Z5 - ~ — — —
s 1.00 | 200 ~ 9.79 100.00 | #nlst | 0.00 ~ 9.79 | 2.32 11.71 st 1.00 | 6.00 ~ 10.59 100.00 | =nst | 5.00 ~ 1860 2.52 11.71
11 100kN/m%E#8z5 | 1.00 | 000 ~ 225 13497 |3mx#Z3| — ~ — — — | 100kN/ %8825 | 1.00 | 1082 ~ 21.90| 134.97 |3m%E#Z5 -~ — — —
s 1.00 | 2256 ~ 1003 100.00 | =4 | 000 ~ 1003| 257 13.00 st 1.00 | 6.00 ~ 1082 100.00 | =nhst | .00 ~ 2190| 2.67 13.00
12 100kN/m##Bx5 | 1.00 | 000 ~ 0.11 101.63 |3mZEBAD| — ~ — — — | 100kN/ %8825 | 1.00 | 1060 ~ 1090| 10163 |3mE#Z5 - ~ — — —
s 1.00 | 011 ~ 790 100.00 | =nst | 000 ~ 790 | 2.13 10.77 st 1.00 | 6.00 ~ 1060 100.00 | =nst | 6.00 ~ 1090 2.13 10.77
13 100kN/mM%#BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZS -~ — — —
s 1.00 | 0.00 ~ 4.39 54.79 | #nRS | 000 ~ 4.39| 1.96 9.90 st 1.00 | 6.00 ~ 5.00 54.79 | FhLS | 5.00 ~ 56.00| 1.96 9.90
14 100kN/mM%#BZ 5 — - ~ — —|3m%TiBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mEBZ S -~ — — —
s 1.00 | 0.00 ~ 7.09 90.08 | =nWst | 0.oo ~ 7.09| 1.94 9851 st 1.00 | 6.00 ~ 9.60 90.08 | =h4t | 5.00 ~ 9.60 | 1.94 9.81
15 100kN/mM%#BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ 5 -~ — — —
s 1.00 | 0.00 ~ 6.72 84.95 | LSt | 000 ~ 672 1.84 9.31 st 1.00 | .00 ~ 830 84.95 | =hS | 500 ~ 830 | 1.84 9.51
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&S X 4 Er%:né; 'Fﬁﬁb\(‘z)(bﬁﬁﬁ’é jj(gi;tn:é)é Z 4 'Fﬁﬁﬁ?é\é:zg;kzlz z.%r'n‘c)k jj(lf’z;tn:é)é Z 4 ;.%r‘na)k J:ﬁﬁb\(‘:)@tb% jj(lf’z;tn:é)é X 4 J:ﬁn“ﬁ;b\(i)o)tt‘.% ‘(.%.r'g jj(ﬁitr:f)é
16 100kN/mM%BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S -~ — — —
s 1.00 | 0.00 ~ b5.65 70.64 | NS | 000 ~ 565|179 9.03 st 1.00 | 6.00 ~ 6.30 70.64 | TS | 6,00 ~ 6.30| 1.79 9.08
17 100kN/mM%#BZ % — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S -~ — — —
s 1.00 | 0.00 ~ 6.44 81.04 | #nRS | 000 ~ 0.00| 1.76 8.89 st 1.00 | 6.00 ~ 7.60 81.04 | =hLS | 6,00 ~ 760\ 1.76 8.89
18 100kN/mM%#BZ % — - ~ — —|3mZTiBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S -~ — — —
s 1.00 | 0.00 ~ 6.30 79.17 | NS | 000 ~ 630 1.80 911 st 1.00 | 6.00 ~ 740 79.17 | ThS | 6.00 ~ 7.40| 1.80 911
19 100kN/mM##BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S -~ — — —
s 1.00 | 0.00 ~ 658 83.03 | =hLs | 000 ~ 658 1.79 9.04 st 1.00 | 6.00 ~ 7.90 83.03 | =hLS | 5,00 ~ 790\ 1.79 9.04
20 100kN/mM%#BZ 5 — - ~ — —|3mZTiBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mEBZ S -~ — — —
s 1.00 | 000 ~ 712 90.49 | =hLst | 0.00 ~ 000 1.63 8.28 st 1.00 | 6.00 ~ 9.560 90.49 | ThLS | 5.00 ~ 9.50 | 1.63 828
21 100kN/mM%#BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mEBZ S -~ — — —
s 1.00 | 0.00 ~ 5.67 70.89 | ThSY 000 ~ 000| 1.72 871 st 1.00 | 6.00 ~ 6.30 70.89 | ThS | 6.00 ~ 6.30| 1.72 8.71
22 100kN/mM#E#BZ5 | 1.00 | 000 ~ 054 108.00 |3mZEBAD| — ~ — — — | 100kN/m%E#8Z25 | 1.00 | 1080 ~ 1230 10800 |3m%E#Bz% - ~ — — —
s 1.00 | 0564 ~ 832 100.00 | =nhst | 0.00 ~ 832 2.31 11.66 st 1.00 | 6.00 ~ 1080 100.00 | =nhst | .00 ~ 1230 2.31 11.66
23 100kN/mM%E#BZ 5 — - ~ — —|3mZTiBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZS -~ — — —
s 1.00 | 0.00 ~ 4.71 5869 | =nRS | 000 ~ 4.71| 1.82 918 st 1.00 | 6.00 ~ 5.00 58.69 | TnLS | 5.00 ~ 6.00| 1.82 918
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ FhLst ~ FhLst ~ st ~
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